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i % =& n) 4 1= in) i £ BE) | a0 | KM Ty | ke | EH
. EEREED) M7ILTR 7 D B 1070 | FEE 3120 | B 1070  162| 242 264 264 643
2 | FEREZLO) INT 4 D BARZLO 1,650 |FRE 2,899 |BEEZLNO 1,650 8.1 11.1 1.28 1.28 31.4
3 FEEEREPR)<ILR-EEE> |/\vE 4 C XEFP 1,690 |FE 2899 |EKiEF 1,690 8.6 13.4 1.29 1.29 33.1
4 | FEGELOK) INT 4 D =LFHF 1470 |FKRE 2899 |ELFHF 1,470 9.3 13.4 1.52 1.52 37.0
5 |FREMURZLO) I\ & 4 C MR IO 1,760 |FE 2,899 |HUFRZFLO 1,760 8.2 115 1.45 1.45 33.5
6 FEEEF) <MR-X=E3> N7 3 C XEFP 1,690 |FE 2,899 |EKiEF 1,690 7.3 10.6 1.23 1.23 29.4
1 B RE-BE-REGERR) I\ & 4 C XEF 1,690 |FE 2899 |EIEF 1,690 9.8 15.3 1.48 1.48 37.9
8 |PUfIL (B F435) ZDih 3 B R 1,590 |E9BA[LL 2,354 |ETFHIS 1,590 7.3 9.5 1.10 1.10 27.7
9 |PYpATLL (& ER) ZDfth 3 B BElR 1,362 |EEBATLL 2,354 BRIk 1,362 6.7 13.9 1.06 1.06 27.4
10 | PO faT L (oD JER) Z D 3 B E30): 1,510 | PG fa] 1L 2,354 |IEDJR 1,510 7.0 12.6 1.18 1.18 28.9
1 | (K& LO) ZDfth 3 C K& WLO 920 |FufmLL 1,963 | K#E&ELO 920 6.5 8.6 1.14 1.14 26.3
12 |ffhl UMSER) ZDith 3 C miiER+ Y J5 1,150 MR 1,963 MffimREXvr2 715 1,150 7.0 8.0 1.04 1.04 26.0
13 |fIanPEE (RiRF) <miR> N7 3 C XEFP 1,690 |FAIERPES 2,805 |EER 1,690 6.8 11.1 1.14 1.14 27.6
14 |PaRpE & (FF U +F %) INT 4 B ft L+ & 1,617 |FAISRPES 2,805 |fitlU+Fig 1,617 9.2 10.4 1.29 1.29 33.3
- RIEEED) m7ILTR 8 D |i&H 1,070 |FIIE 3141 B 1,070 19.4 28.8 3.15 3.15 77.0
16 |BEALL(FE) A7 ILTR 3 C A 1,393 | HHEALL 2,268 | HBAE 1,393 7.0 5.3 0.98 0.98 24.5
17 |ERfEIL(—/ BE3tH) ZDfth 2 B — /BB 1,130 |gR#2LL 1917 |—/ERE3uth 1,130 48 7.9 0.83 0.83 19.8
18 |TREE () I\ & 3 A B 1,890 |WEE 2,760 |#%TFE 1,890 4.4 9.4 0.94 0.94 20.7
19 HREERRER) N & 4 C KRAO 1,603 FREE 2,760 ARAO 1,603 7.3 15.0 1.46 1.46 33.2
20 |[MEEERPF) <JiR> I\ & 3 A XEFP 1,690 REE 2,760 |EKiREF 1,690 7.3 13.0 1.16 1.16 29.3
21 BEE(EZEIK) I\ & 5 A ZHIk 2,094 HREE 2,760 |EEHix 2,094 115 17.4 1.50 1.50 41.8
.?E?ké(%’ﬂﬂﬁ%ﬁ) k7L TR 6 c |BisiBEE 860 |ZEAE 2864 [BsiREE 860, 128 197 205 205 508
B ZEXR-HE(SEHRE) hR7ILTR 7 D SERYE 1,080 |ZEKRE 2,864 |SEIRIE 1,080 17.7 25.0 2.50 2.50 65.8
24 \Hit EIRE (A L LEih) E7ILTR 10 C =N 1271 |#EIrE 3,180 | L=ih 1,504 32.3 47.8 3.84 360 113.1
25 | SIEF&E (HEls) ZDih 2 A Hh R e 1,732 |BEFE 2,066 | HhjEklE 1,732 38 8.2 0.44 0.44 14.0
26 SIEFE(EHEY L) <TFIEE> 7ILTR 4 C =N 1,271 |BIEF&E 2,628 |\ E#EA L 1,271 9.8 12.1 1.55 1.55 37.8
27 | K#EW GHlR) Z D1t 1 A il 1,285 | K& 1,566 |Glx 1,285 2.3 33 0.32 0.32 8.6
28 BEESE (LS <BER> EF7ILTR 7 C ar=: ] 1504 |BAfESE 3190 b= 1,504 17.7 36.6 2.08 2.08 64.8
29 #it FEBE(HhEER- L) E7ILTR 9 C FEEZILO 1,455 |HBhE 3180 | L=t 1,504 25.3 375 3.07 3.02 89.2
30 |fEsEk L (BR = R ER) ZDfth 3 B = RER 2,120 |fEDfEkLL 3,067 |ERFx=/HER 2,120 45 7.7 0.95 0.95 20.4
31 |#EEIL(ADE) ZDfth 3 B HOR 2,200 |fEIFERLL 3,067 HODE 2,200 5.0 7.2 0.93 0.93 21.0
R 505 = CLiRIE) %2 m7ILTR 3 C bRk 2,030 HEEsE 2,967 |JLiRis 2,030 7.2 6.8 1.11 1.11 26.7
33 |HHFEE (IFZFLO) ET7ILTR 5 C NIRRT 994 |HRE 2,647 |#MIFZELO 994 11.0 13.6 1.78 1.78 427
34 RAWE(RWEILA) E7ILTR 3 B BEMEWLA 1,090 |EWRE 1,888 |EMELLO 1,090 6.5 6.9 0.82 0.82 22.4
35 |fit BE-F(KARE-ER) EF7ILTR 6 C KAR 1,084 EEETEEIE) | 2889 RiR 1,338 15.1 19.8 2.40 2.14 58.3
36 EEREsE(KAR) 7 ILTR 6 C AAE 1084 EEEIE(FEIE) | 2889 | KAR 1,084 14.2 18.4 2.05 2.05 52.7
37 BERyERR) EF7ILTR 6 B BiR 1,338 \EEEETE(FlE) | 2889 |miR 1,338 14.8 21.2 2.44 2.44 58.8
38 | (EWZEFWLO) ZDfth 3 C f£LEFLO 1,230 |£1L 2,245 |EWLFLO 1,230 8.1 10.3 1.15 1.15 29.9
39 it FER-FEEB(\FtUE-7ILTREER) ETILTR 5 C J\AMILE 1,835 REE 2814 | ZILTREER 1,530 12.1 17.1 1.66 1.97 44.7
40 FEWE(\AiLTE) E7ILTR 3 B J\FF ILE 1,835 |EWE 2,696 |J\AithLiE 1,835 7.1 10.5 0.95 0.95 26.0
AREEBTE(TILTRWE) < EWA> HRTILTR 5 C FILTRLGE 1,080 |\ KREETE 2956 | 7ILTRILFE 1,080 11.6 175 2.25 2.25 49.9
REETE (KEEE) <EMB> HRT7ILTR 7 C REEE 1,210 |\ KREETE 2,956 | KHEDE 1,210 15.7 20.8 2.50 2.50 60.9
REENTE (BE/M5) hR7ILTR 5 B NG 1,280 |KREBTE 2,956 |#E/N5 1,280 11.6 19.9 1.87 1.87 46.7
RERIE (FEE) hR7ILTR 2 B FEE 2,650 KREENTE 2956 |FEE 2,650 3.7 38 0.43 0.43 12.3
it RER-ER(FEH-Bs-RBER) FRF7ILTR 6 C FEH 2,650 KREENTE 2956 BastREIR 860 16.2 21.3 1.36 3.15 51.0
46 LtEE(EA) E7ILTR 5 B tB 1,063 |dtBE 2551 |£t& 1,063 14.0 13.1 1.88 1.88 49.1
47 |ItBEEE(LEEH) <BER> E7ILTR 7 D =511 1,504 GtHESE 3,106 | L= 1,504 16.0 34.7 1.97 1.97 60.1
48 |ILHEE(O—TxA) INT 1 A ILITEER 2,230 |dtiEE 2,480 |LLTEER 2,230 2.2 4.2 0.30 0.30 8.4
49 |EBIIL (ERE) Dt 2 A EH il 1,973 | 2Bl 2,404 |EHifls 1,973 3.6 5.2 0.51 0.51 13.4
50 HEE(FILTRER) E7ILTR 5 C T ILT R EER 1532 HEE 2814 | 7ILTREER 1,532 114 15.4 1.62 1.62 42.4
51 |/NMEZFEE (Hith) EF7ILTR 4 B SRS EANES 1,842 |INEERE 2,766 |t EHARE 1,842 9.3 13.3 1.14 1.14 32.8
52 #it HEBR-FREEHBTE-XEF) |/\vE 5 C B 1,565 |FRE 2,889 |EKiEF 1,690 10.7 136 1.69 1.56 411
53 HEWRE(BRET) I\ & 4 B B5F 1,565 [HERE 2,715 B 1,565 8.0 10.7 1.25 1.25 30.8
54 \FRTE(RIR) E7ILTR 4 B iR 1,338 |7 & 2,670 |miR 1,338 8.3 12.3 1.57 1.57 35.1
.iﬁﬁﬁ(%%) m7ILTR 7 D M 1630 EEEGEIE) 3052 |HiE& 1630, 163 257 251| 251 635
it FHEE-EARE/NMG-ByRER) hRTILTR 8 C TIN5 1,280 |\ KREETE 2,956 |EusiRER 860 20.9 29.4 2.79 3.21 76.3
57 | BEE(—/R) E7ILTR 4 B — /iR 1,329 B= 2857 |—/iR 1,329 10.0 12.1 1.53 1.53 37.9
58 BEE(=ZR) EF7ILTR 5 B =& 1,359 |BEE 2857 =& 1,359 13.7 10.5 1.53 1.53 44.0
WO 1L S0 & (HLiR ) 32 M7ILTR 3 C iR 2030 |[IXVE 3033 |dLiRuE 2030 76 05| 112|112 283
60 B K¥Lvyh(LEHh) <ItfFE—-E> F{7ILTR 9 E =% 1,504 GttESE 3106 | L& 1,504 25.2 41.7 2.65 2.65 86.0
61 BEL(FRFvYTE) X1 ZDih 4 D FlEXy> 715 11711 | Z= 2,353 |FEXvoT7H5 1,171 8.8 13.4 1.42 1.42 34.9
62 B BEWL(FEXvUTE) X1 Z0i 4 D FlEXvy> 75 11711 |&F W 2,353 |FlEXyo 75 1,171 8.5 136 1.37 1.37 33.9
63 |2 (KA[FIRE) INT 2 A PN 2,090 |ZEF L 2,530 | KAIJR e 2,090 4.0 5.4 0.51 0.51 14.2
64 ZRIL(E&BZWLA) INT 2 A t&B&WL0O 1,900 |ZE#&L 2530 tE&BZLO 1,900 38 4.9 0.63 0.63 14.9
65 ZERIL(ZEHERE) N 2 B THERE 1,720 |\ Z&L 2530 | HKHERE 1,720 5.0 6.0 0.81 0.81 19.4
66 |#t WrE-EEZ(EBEH-—/R) <RREE> LT ILTR 6 C LS 1,504 &= 2857 |—/iR 1,329 15.0 22.8 1.90 2.07 54.0
67 |fit WrE-B2(=2R&R-—/R) E7ILTR 5 C =& 1,359 = 2,857 |—/iR 1,329 11.8 15.8 1.96 1.99 46.7
68 [MRTE(=1R) EF7ILTR 4 B =& 1,359 |MRTEE 2,664 =% 1,359 7.7 9.7 1.33 1.33 30.8
69 |#t HoEI(PERR-—/IR) A7 ILTR 7 B FeEZILO 1455 |BE= 2,857 |—/iR 1,329 16.5 23.0 2.39 2.52 62.0
70 |#HeE (RERR) 7T 4 B FEEZILO 1,455 | 2,763 |#eEZILO 1,455 7.8 9.8 1.42 1.42 31.9
B & (52 E) M7ILTR 6 B | BEE 880 |HE 2591 |BEE 880 138 164 207  207| 516
712 | K& (BIRILR) <TEER> INT 3 B FE IR 8k SR 1,860 |FXAE 2,646 |FEIRELR 1,860 5.2 6.7 0.95 0.95 21.4
13 | XK¥ME (/%) I\ & 3 A %/ 1,840 EHXHAE 2,640 |/ 1,840 6.4 9.1 0.83 0.83 23.1
714 | RAE(KRER) INT 4 C ARAO 1,603 |FEXAE 2,646 |ARAO 1,603 8.3 14.6 1.41 1.41 34.3
75 |t PRI (REHES - FIEXvo715) Z0h 3 D Bt EIE IS 1,215 |FRELW 1,904 FlE¥xv2 715 1,171 6.6 9.0 0.87 0.91 23.7
76 | PRI (R ETES) ZDfh 3 D Bt EFE IS 1,215 |FRELL 1,904 |EAttEIEEI5 1,215 6.0 7.0 0.76 0.76 20.9
77 |#t PEE (BEREIEIG-RM) X1 £t 4 E Bt EFE 35 1215 |@BE 2,053 |fRithELETERIG 1,200 10.3 11.4 1.28 1.30 35.6
78 HiEEE(LEaith) E7ILTRX 5 D =% 1504 |FAfESE 2,909 | L= 1,504 12.2 13.2 1.45 1.45 41.2
719 |#RFE(EEHRS) ZDih 2 A B FHi5 1,590 RFE 2,207 |EEHIS 1,590 3.7 5.1 0.62 0.62 14.7
80 |HBFE(EDR) ZDfth 2 B E30Y: 1,510 #BFE 2,207 [IEDR 1,510 3.3 8.3 0.71 0.71 16.0
81 #ft BEEFE—-FAR(URE-EERR) LT7ILTX 8 C =RE 1242 AEE 2932 EFEERR 1,470 19.7 28.6 2.91 2.68 74.6
82 HEXMh(1Rit) E7ILTR 3 B SR =EANES 1,842 BHEE®RE 2,469 Bt BERE 1,842 5.8 7.9 0.78 0.78 21.2
83 BEE(RE) E7ILTR 4 C Y=} 1242 HBHEE 2932 EAE 1,242 9.8 13.2 1.72 1.72 39.9
84 HEE (i) E7ILTR 5 B Bt BRE 1,842 |BEE 2932 |t BERE 1,842 12.0 17.7 1.50 1.50 428
85 HEFHE (RN EF7ILTR 2 B with B AR 1,842 |\BEE#®E 2,469 Bt BERE 1,842 5.0 5.7 0.63 0.63 17.4
86 |fit JNEFXLYNTILTRAER-XAR) dLT7ILTR 7 D T ILT R EER 1532 EEEIEEIE) | 2889 | KAR 1,084 19.3 21.3 2.14 2.58 64.0
87 &/ K& (FIR) EF7ILTR 4 B iR ER 1,418 |#KE 2,821 |FRIRBER 1,418 9.5 12.3 1.51 1.51 36.8
| EEETN) M7ILTR 6 C |ERNE 970 EE 3013 |EERINE 970 129 183  237| 237 538
89 FEE(ERE) E7ILTR 6 B tE 1064 REE 2459 |tA& 1,064 145 13.8 2.15 2.15 53.0
90 R HEME(LEH) <tiE—-wiiE> L7ILTR 7 E =511 1504 |BAfESE 3,190 | L=t 1,504 19.2 27.1 2.37 2.37 67.8
91 |ErEMU GRRIZWO) X1 ZDfth 4 B EEZELO 1,200 |@i7fhL 2,524 ZREZLO 1,200 9.3 21.8 1.48 1.48 39.0
92 |HTHMLU (BERIR) 31 ZDfth 4 B HiRlE 1,973 |Bi#hL 2,524 |Eifilx 1,973 8.7 12.1 1.30 1.30 33.0
93 FIfEEE(Laih) <EXEHFE> dLT7ILTR 4 D =511 1,504 RIfES&E 3,090 | L= 1,504 10.3 12,5 1.62 1.62 39.5
94 HiEGEHEI L) <HE> EF7ILTR 7 B = L 1,271 | HFOAEERE 2924 \Ei#EEA L 1,271 17.3 32.0 2.11 2.11 63.0
195 | #iBh Y & (S 8RiRAE) HRTILTR 6 D |SHRHE 1,080 |FAEQTE 2841 | SEURIE 1080 158 19 187| 187 539
96 |METE(LEih) E7ILTR 8 C LS 1,504 |1BhE 3,180 | EEih 1,504 20.0 39.1 213 213 70.3
97 BTERE)<ERR> 7ILTR 6 C =B 1,242 8T E 2903 |EE 1,242 14.7 16.9 1.96 1.96 52.3
98 &/ AL (HhEk ) ZDih 1 A Hh R e 1,732 |iZ/3l 2,101 |HhjEklE 1,732 2.3 4.2 0.41 0.41 9.8
99 |1EE (FEFi%) I\ & 5 C TEFi5 1,500 |HEE 2,829 \fEFi% 1,500 11.8 19.3 1.79 1.79 46.1
100 | SEFEE (FIR) 7T 4 B iR ER 1418 |EEE 2,799 |FHIRBER 1,418 10.0 135 1.54 1.54 38.4
101 S EIL(ZXSE) B4t 2 A =mEWLO 190 |&EW 599 &EEWO 190 338 7.7 0.46 0.46 13.9
102 | S EIWL(EEE B4t 2 A SEWO 190 SEW 599 |EEWO 190 2.4 6.9 0.55 0.55 12.3
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